Bilde die Ableitungen

f(x) = sin(3x2) f'(x) = 6x cos(3x?)

flx) = e** f'(x) = 6xe

f(x) = cos(x?) f'(x) = —2x sin(x?)

flx) = (x% = 2)2 F(x) = 2x % 2(x% — 2) = 4x(x? — 2)
f(x) = eV [0 =5ze"

f(x) = (3x + 1)3 f'(x) =3%3@Bx+1)2 =9 (3x + 1)2
f @) = In(x?) fre=53=;

f)=33x+2 F(x) =3 * ﬁ — Bx+2)7

f(x) =sin(x?) + cos(x?)  f'(x) = 2x cos(x?) — 2x sin(x?)

f(x) = (x? —3x + 1)? ffx)=Q2x—=3)*2*(x?—=3x+1)

f(X) — 65x2—3x+1 ]c/(x) — (10x _ 3) e5xz_3x+1
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